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willleadtoanexpansionaryprocesstilltheeconomyreachesthehigherlevelof

incomeY2 atpointB.From B,theIandScurvesgraduallyreachthepositions

showninstage1ofFigure,andagainthecyclicalprocessstarts.ThusKaldor’s

cyclicalprocessisselfgenerating.

AccordingtoKaldor,theforceswhichbringaboutthelowerturningpoint

arenotsocertainatthehigherlevel.“Aboom lefttoitself,iscertaintocometo

anend;butthedepressionmightgetintoapositionofstationariness,andremain

thereuntilexternalchanges(thediscoveryofnewinventionsoroftheopeningup

ofnewmarkets)cometotherescue.”

R.M GoodwinpresentednonlinearmodeloftradecyclesinanarticleThe

non-LinearAcceleratorandPersistenceofBusinessCyclesin1951.Goodwins

modelofBusinessCyclelikeisanextensionof themultiplierandaccelerator

modelofBusinessCycle.Goodwinpresentsanon-linearmodeloftradecycleas

againstHicks'linearmodel.

FeaturesoftheModel

ThemainfeaturesofGoodwin'smodelare

 AlinearconsumptionfunctionC=αY+C0whereα=consumption

incomeratio,C0=autonomousconsumption.

 Netinvestment(I)isequaltotherateofchangeincapitalstock

whichistheresultofadjustmentbetweenactualcapital,K and

desiredcapital ,and =βY+αwhereβistheaccelerator.
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GOODWIN'STRADECYCLEMODEL
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reachesthepeakandthetrough,itatoncetakesadownturnandupturn

respectively.This is empirically wrong because both recession and

recoveryareslow processes.AsHickshasalso pointedoutthatthe

economycreepsalongtheupperandlowerceilings.

Conclusion.

Despitetheselimitations,according to Prof.Allen,"Theadvantageof

Goodwin'smodelisthatthenon-linearelementisbuiltin;theresultingoscillation

maintainsitselfwithoutanydependenceonoutsidefactorsoronparticularinitial

(orhistorical)conditions."

DifferencesbetweenGoodwinandHicksModelsGoodwin'smodelisdifferent

from Hicks'modelonthefollowingpoints:

 TheHicksianmodelshowsonlyhow cyclestakeplace.ButGoodwin's

modeltracesthetimepathofarealisticcycle.

 TheHicksmodelislinearwhichbecomesnon-linearwhentheceilingand

floorofacyclemeet.ButGoodwin'smodelisthroughoutnon-linear.

 Hicks combines growth and cycles in his modeland keeps growth

dependanton autonomousinvestment.According to Goodwin,growth

depends on technologicalchange which continuously increases the

productivecapacityoftheeconomy.

 Theequilibrium pathEE ofHicksisbasedoncontinuousincreasein

autonomousinvestment.ButGoodwin'sgrowthpathaaisbasedonthe

increase in desired capital which is the result of continuous
̅
K

technologicalchanges.
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